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9. For each question there are four suggested answers, A.B, C and D, Decide which answer is correct.Find the number of the

question on the Answer Sheet and draw ahorizontal line across the letter to join the square brackets tor the answer you have
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1. ttlplifyjHg t[_ie expressjon
A. l4

^3 X 4+2 gives
12. Writing 0.9986 to 2 dec.mal places eives

A. 1.00
D. 0.99
C. 1.90
D. 0.90

13. Converting 110cm
A. 1001
B. 1110
C. 1010
D. 1100 

14. The circumference ofa circle is 167rcm.1he

radius in cm of the circle is

A. 2
B. 8
C. -

71
D. 4

15 the volume of a cylinder whose height equals the

radius is

A. nr3

B. \nr3

B.
C. -7

to millimeters isD. 18
2. The number 101

A. H002
B. 110012
C. 10112
D. 10102

3. Converting 235 to base 10 gives »

A. 13
B. 23
C. 25
D. 53

4. In the problem 7 -*- 3,7 is called
x dividend
B. quotient
C. product
D. divisor

5. The place value of the digit 7 in the number
32.87 is:
A. —:

when doubled givestwo

?
C. ^n3r3

D. nr
16. Given that a semi-circle has diameter 28cm, then

22
its perimeter is:(takingn — —)

A. 14cm
B. 56cm
C. 28cm
D. 72cm

17. Given that-=5, n A 0 thenn=
A. ?

. -
B-!
C. 3
D. 5

- . . _

18. The value of the expression (x+2)when
x=-1
A. 1
B. 3
C. -3
D. 2 .

19. Given that 2X =3 and 2y = 5,then 2x+y is
A. 15
B. 8
C. 4
D. 125

20. 2400FCFA shared in the ratio 2:3:7, the largest
share is
A. 1300
B. 1400
C. 1500
D. 1600

B.
100

C. 700
D. 70

6. TheH.C.F of24 and 30 is
A. 6
B. 3

nC. 2
D. 360

7. TheL.C.M of 12 and 24 is
A. 6

*•*v

B. 12
C. 24
D. 288

8. Given that1€= 100FCFA and
1£= 1050FC7M,the value of3150€ in British
pounds is
A. £315
B. £105000
C. £105
D. £300

9. The temperature of a body was recorded as
36.6°C.If the true temperature was 37.0°C then
the percentase error is
A. 0.4%
B. 4%
C. 1.1%
P. 2.2%

10. The number 26354 correct to 3 significant figures
is

A. 26300
B. 263
C. 264
D. 26400

21. The expressionx2 — y2 can be factorized as:
A. (AT+y)(y-x)
B. xy(x-y)
C. (*-y)(x+y)
17- (*- y)(s- y)

22. A network has 2 regions and 5 edges, its number
of vertices is
A. 6
B. 5
C. 4
D. 3

11. In standard form the value of2 x 8000000 is:
A. 16 x 106
B. 1.6 x lO9

C. 1.6 X lO7

D. 1.6 x 10s
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23 if r and v are two simple statements then the

disjunction ofr and v is

A. v -*r

B. v +-> r

C. VAR
D. wr —

*>4 The smallest whole number that satisfies the

inequality +1>7 is

A. 2
B. 6
C. 1
D. 3 _— 

25 ^ interval represented on the number line

below is

- «

In the diagram above, O is the center.
Hie value of a is
A. 35°
B. 70
c. 110°
D. 145°

33. Ihe angle formed between 0° and 90° is called?
A. reflex angle

r*£lit angle
acute angle

D- obtuse anule
C.

H 34.t

1.4A
1.41U.

9
1,4]C. ,3

1.4D.
26. What is the number of sides of a polygon whose

interior angles sum up to 540°?
A. 1
B. 2
C. 3
D. 5

27. How many lines of symmetry has the kite below?

r» In the diagram above, the value of
cos0 is
A. 12
B. —¥C.

ISD. -12
Two points A and B are such that the bearing of
A from B is 060°.What is the bearing ofB from

35.
r

I\ A?.

v A. 060°
3. 240"
C. 120°
D. 030° - -

A. 4
B. 3
C. 2
D. 1

36. Evaluating sin303+cos 60°gives:

A.. —
28. Given the sequence 8,15,24,35, ... the next

number in the sequence is
A. 48
B. 46
C. 50
D. 47

29. Given the sum of the first n terms of a series as
Sr = 5n — 3, then the second term is
A. 2
B. 7
C. 5
D. 9

30. The geometric mean of4 and 9 is:
A. 6.5
B. 6
C. 18
D- Vl3

31. In the circle centre O below, the value of6 is:

2
B. -1
C. 1
D.i

2
/O

37. The determinant of the matrix^A. -1
-3\ .
l) ,s:

B. 1
C. 5
D. -5

-(^ J1), thenN2 is:38. Given thatN

(6 2^V2 VA.

• Q D
c- d° j)

(I -A

B

D.\
I — /2 3\

The adjoint of the matrix M= 5J is

(a 5)
B. (4 j)
C-. ("3

V

39.
A. 120°
B. 150°
C. 180°
D. 60°

A.

4 \•*, »

—5^i

\ - (-V2D.
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^
n the line y-2x-8= 0, the gradient is

s' l
C. -2
JX _3

41• Given thatm: andm2 are the gradients of the

lines Z:and Z2 respectively. The condition for the
lines Zj and Z2 to be parallel is
A m-i m2
B. m1+m2 = 0
C. m1m2 =-1
D. mi -= m?

42. Given that a=
CL +2b~

1-2x, then /(-1) is
46. Given that /(*) —

A. -3
B. -1
C. 3

47. The median of numbers 6, 11,4, 13,5,8,5,8 is

A. 13
B. 7
C. 8
D. 9

48. The range of the data 2, 5, 1, 10, 5, 8 is

A. 6
B. 8
C. 9
D. 7

( 32)̂ *=(i2)-

(-i)A. 49. In a well shuffled pack of 52 playing cards, a card
it r ^t random. \Vhat to the proPuGih^ Oi

obtaining a king and a queen?
A. 0
B. ^c. —26

D. —13 g
50. The probability of an event not occurring is-. the

probability of the event occurring is

A.!
B. 1

n W
!-•.

V. - / /

(?)c.
\'o

D- (,)
43. If a = 3i+4;', then|3a|is

A. 5
B. 18
C. 15
D. 45

44. The shaded portion in the Venn diagram below
represents

1' ai

,._ j D.
3A. AdB

B. AUB
C. A!nB'
D. A'UB' r* 4 ‘ . r

45. Given that A = {1,2,3,6}. then n(A) is
A. 4
B. 6
C. 8
D. 16

END
GO BACK AND CHECK YOURWORK
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